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I. 

 

Fill in the blanks.                                                                                    ( 5 Marks ) 

 

a. 
 

The place value of 8 in 8127 is ___________________ 

 

b. 
 

The greatest 4 digit number is     ___________________ 

 

c. 

 

The successor of 999 is  ______________________ 

 

d. 
 

9614  _________  8416  ( insert > , < , = ) 

 

e. 
 

1234 -  ______________= 1234   

 

f. 

 

5020 – 5020 = ___________ 

 

g. 
 

8 x 6 =  ___________________ 

 

h. 
 

350 x 2 = 2 x  _______________ 

 

i. 
 

1199 x 1=  _______________ 

j. 
 

5 x 50=_______________ 
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II. 
 

Do as directed.             ( 1 Mark each ) 

i. 

Find the place value of the underlined digit .                     

 

2867    - ____________________________ 
 

ii 

Write the following in descending order.                            

   

6185   ,    6785   ,    689    ,     6585 

 

__________________________________________________________ 
 

iii 

Write the following in ascending order.                              

 

7319    ,   7391   ,     7338    ,     7383 

 

__________________________________________________________ 
 

 

 

III. Subtract.                                                                                                             (4 Marks)                    

a. 3826 from 5715                                                    b.    5235 from 9487  

  

  

  

  

  

 

 

      c.      3908 from 5000                                                    d.    2353 from 8765 

 

  

  

  

  

  



    IV. Multiply.                                                                                                           (4 Marks) 
 

a. Multiply 2387 x 4                                           b.   Multiply 349 x 28 

  

  

  

  

  

  

 

c.     Multiply 1345 x7                                              d.   Multiply 209 x 34 

  

  

  

  

  

  

 

V. Solve the given word problems.                                                                     (4 Marks) 
 

1. The population of a village is 9537. Out of this 4738 are women. How many men 

are there in the village? 

 

 

 

 

 

 

 

2. The class 3 mathematics book has 112 pages. Find the number of pages in 7 such 

books. 

 

 

    

    

    

    

   

   

   

   


